PR SO0 I Y S D Y B X
AL /A8 4
& gidl g 3 g8l laliaidl / Sal—al)

Ol it / g 3 5t 418
& n/a/r\ /@JL_J\ Aalal) qun, .ﬂ.uii‘llﬁ

ey (Aa el ¢ uﬁ»a_uugm‘lll"
5@1J§4W\&‘ adiia 4

3 )i J oV
pladiud A G LRl 5oLl Aalall LpabaBy) 5AUSN G ABNall Ciuuasis paad CSa
O S SLaBy) aliig dalaily JSLa adlsy cdad L3 skl day i) Al Jiaa)
Al Lal ga Bl sl o g alamy) il ghly dali
(da8d Jols &S J8)): Lle JLatils "Ussaeg ladae (80 A poda E
sidly sl elats BLAL LAy S /Y
Ada Jlall udy (Bsaeg o3BG ged) ha (IS aBgay ALl (Foual) pggdal Sgagall (ssiaall /¥
s Y alaall S SaTEY) (B (3850 il Lpuugd gl /¥
vl it ALy gatl) 080 Sasaal) Salall /¢

ey ), SGN S

Aauaia lpde (IS clS 130la syaady Yol ALAN (NE i A0 (cNGiall o) Clall (86

""‘xfuhL'\‘

AR (CombuaBY] G Al (Bia ) b paly iy s GLia /)

siunal) of (L) Bl sotuall Lo plow L3l aa b i o L g 2kl o /Y
(it ) 5

Algans (Nsal) Joud s b agiill o) /¥

Aucsadia gl 4 jlat cls plow A1 daid) Chillis pa g3Sall L) Chilliy Sl /¢

o 4RI AU asgda pe a0 Sac i) pggda (3L, [0

el G (e i Lyl il L3I fg—al) Sy Yol Sy /1
sl BLaY aid +asjgall 42 LY+ clbliay e daall

Sl gl gl clany) 3l Ayl dlaidl oS [V

cciladdlly abuall Jlewsd g UG aa "Lk "Lealid g8 Ao quadis /A

cilasily aludf dadia asghe g hil) dudia pggde Silay /4

ceos il gy ChiaTl ol a




(Sl duad ) A 43 yalf &t | dudgilf daaly
i Lt a1 Josdd| wibibiadil: dake Byl ads
AR E B EEF P i ] §o41-5+10 gubo 390 Aalad] Aty SLaiBY) and

S (SoaT LS sl o1 S5 3l g e i g 91 1At sl Ui N s e |
Zllaleolly dailaall oguyll oladiialy Jalasill po dallull slyLaall fhi of dan gso piag: Jalll Jlasll

(sla530) sdgalasll
Al 3 iaie (e Jaled) ¢ 5all (54 a5 Ala B)deadl ol ate By ()
) Janll s

S AV i Lads 2 ) oo Ll Jtiee i) (saa) 4ol a5 530 Jaad a e (Y

QWJM‘GAMHAXMSM\GJL@H\@MU,S}M‘ yﬂa&‘ﬂ\.\aﬂéﬁh&(f
Ayl e Jaad

63 52 aa il dlad dumpry o Sl (sl of oS (A IS0 die s B (€
iliacy Aa 4y s

3 elme ) cile saney 5 38 LY Adland) LD gl i (o glial 4y guaal) Ay b Y (0
AN Jals 3 gd 06S 8 Ay Aalall allad)

(5la40) (hdghalds 505 yLauil oaglhaoll) :gslill Jisedl

il 2al 5 £ 58 = b paclgien) se Ay lgsband o Al Aks ) ) oY) laials 5380 ()

JLila Jad jial) catlall Ay 5k Jla 8 Jeall e Qllal ate 31 (Y

DY) 5 Ja S o G i e daall e ot Gl (Y

Lgie JS sl gmy J 3 ol gl Sl ginnny sa¥) 30a3 4 S ) 3ladl (he poad Sllia (€
siaaal  Jglm el (5o b Aullead Alaall (ooLaBYI bl A gy als il o ading
i

s ala)) Jaall s el Lo Jaall e dig e 3 86 (0

(silaya0) (lads yallgan yLaial oagllaoll)  SILEN Jlpad!

Laiwdia £+ Lok LA clth Lelad dagludd dles B g3 )b o Jg¥) sl i)

1) caale 1M Aga Yoo gl o e

OY = fee =z bl 2y ) daglie e

A e jlua a0+ You = rdliledl sk gl gled Jaie

P)’("") dbﬁ‘ﬂhuijhﬂub_)uuh

odale (Ve v+ )aaly bzl o cplaladl Jlaal) e

Lu_,.\‘\.u;\°~~~- Mw;ﬁﬂd\a@@aﬂmﬂb)w

1 pllaal)

#13Lal g $2a glanad glee Ui T3 gana 2SI finy sl (g

| m&u..du..,(w Jordd i ) Dlely Al caoaa skl o JY) Sl Pla-o
cdtila) 3a) oy sl e SIS sl 5l Cuaalfelalll 138 D& GUDU (il ado i

Al 1Y flagie JS 4y iy A (mpall galaclesy G pdall day )l (A G pRY) S 1
U ikl gl 138 adags okl Lo gf Y+ Joaal Gl pual ) ey Ada) caoom y iy
Slida) yaad B Gublal Ga JS S elad) Sd0al quualfs sal o3

RN



L gﬁ aiy s Gajad g Laccnd ) e A0 5l ag RGN 5l il A 132
Tkl Jea 3 (soal Losy ¥ o) 5l ) palasls TG 3065 gaiper b flagie
oy
O S0l e S 4 piy A el b Lacd D) 20D 5 ) ey QOB ) s
913l Saiaie Y S of oSe
Lol e JS) A gl ) yinal) Aad sk e Ble s
ey (A ) pudagy A Jiliall JSE) (eI

() g5t sy Jaadl G (Al Y )hsagd) dilolu a3 L Jde g2
L\ MJ‘@M g 4 (g)dﬁmul)hl\

) AL oo qal I cgy Al o

4 : Q\.\a‘” \JA’AA U'm d'a.\.!\ un;ﬁ Ll Bay.4l

repliaall g ¢ gl ) sl (o (Oe)ial

) Ledany Gl oS8 15000 Jand) Cilola 22 sale-
t 1 i S e Juany Aol oS50

H ; Slalina 5o Loy (Cyf—a)ipaanll dedll Al

= i “z,.,,;muu Lecilesin © g (O)giiad (e baa gl pau OIS 13-
¢ 5l 5 Jaall Aol g g2l aY) g

6 aY) Uy and 458Ske (ge Adle Juany 3 ol 4lis paa b Ly

A Sall oy 8 13 Axign 3 Lo Lkl g saifan)y Aol sl A siad Alee el daladl 35 135
sl s Al Jalall adde Juany (53 Jaa) il s s

ila B Jaad yuainl gaal) Aeali¥) g snd il 3y S LN gy D dgoY

40 Anad 1 Al
TR TR A amskes] L
¢ % ; :
YA t £, \
Fn t As Y
¥,o t K ¥
A ¥ t VEA %
v.¥ t WA °
by B Yae 1
¥ t YY. v
¥ £ Y A
() t YA q
A £ Yo T
2 sllaal)
Gl Jgadl Jus-]

sl Aadly IV A o G o Lo
o e pgise ) Jad) Casy 20 sale Apisany €0 o Andy o) g i Y S 13—
Saoa sl ke Ja A sany 0T ) POIRBIE R RUN PRRBEUN]
anll ganll il Z L) Bl 13l
ceeg)pd)s e\ CALD) AN

& il At /8




D 1

Lpdd yleall By male laial Al syl a3
A3y ) oYl clada 2 Zela (Y) 1o

ARRRVAVARR I

JoVl Jlguudl

el ol gl Ao iy QLY jiliae on @85 530 o CUaEY! e #las Gaigy ()
b BT Gy A Ay ol Al saeme S Ol AT Al ey cctialiiall i Ll
Ghiiul olaa (86 D ¢ g A ccailagll fu glhal) o) Y1 e G Llee e eyl

e heas US g s ) e lania ga Alaal)
kadaially cplalal) (el g A1 Alee i ghad (28 ()

o] 1§l

) Aakaiad) ) aaadl Calh gall 4l Cangind (A AadsY1 AAS aaall Clalall dsa 55 gl ity
-:Uigh‘):;‘iéﬁmuc‘,.'auﬁAQQJ@J‘M@&A;@Q\Z&WQAWJMM&J@JP

Slakaid) 3 e ldaY) ol Ll dalse ()
A il g 4 g5 alipd 723040 ()

13 I | O

oo piSar Loy olelall gl (b ol kS Slaal gyl Adead el gl e ()
caahaill Calaal) s 8 Aeabuaall JGHLy celdY) cullaf yyghiy Jasll OS] (sl

oraai land AGES M 5 lal laialy (S0 SIS o guia b

cgelaill Calaa'ly alaball Al oy oy M @sas 3 Galaladl elaf and) s ) ( jal) il ()

)..Anb’dwl‘u‘;bi(.»ﬁm\myﬂbcﬁl

Zodly sl o bl

t_\.,.nl\ Ayd .l
ciadl s Yo .3



(RS RVAWIL B Y glaay ik g giall Aaaly
el ; e 4500 43,0 3l dgls
pluaall g Cualil) g Ay )l and
-2 A ALY Ce )

J¥) g

Gl bl zluall b Jaad) Jia N jgaall o6 Cpilh gall AL il aal (0u) O A gl () dssad)

. Sl e LSIL Jaall Jia (8 ageiSla 2y (U9) 9 Osa g JIsh

() siiall CEYGAY) Jalaa - ¥

d 2 Yo_Y. -\e ZNa -0 ua
o

'S S \ Y 3 =Y

1 Y 1 v po ok

\e \ A b s an

\Y A ¢ i A [y

o, Y 4 Vo ¢ wvadaa

: igllaally

(wa ¢ ua) Cdoidall Gn bl ) Jalaa -
wafon Jaad) Aldlaa — ¥ e Jaad) ilaa - ¥

(8 gl

i (e 3290 g8 Qgm0
(u) sl CAEAY) Jalaa -Y
(02 o Cuoall Ga JS) AT g ailad Gl ¥
o oidall ) gl Jga Aay N psad) aa gl £

G} gl
AU Alaiay) a3 68 )
-—a Ot :-"- Yo L -JLA J}‘Y'Qm
Y. Y [¥ " ° ¢ Juand) 3
Oa S ilea —; igthaally
& (sl g SR A 2 a - Jigiall - lasagl) - oead) Jana gl -

£1 DU g Jalaa g DAY Jalaa a8 o) gl - (A aae ) ¥
.wﬂ‘&d;ﬁ‘.\‘u‘j B

Claills (i sl il el
(bandl) Bilal) ae (il / 3




1.3 16/2016 g sika 93 Oladal i glall dnals
el 1 Ga) s a3 ol Balall Bl A

4 palay) ARl Ay dalad) La (A0 43 80)

a,)(7.5) il & sl JlesFl:d ) andl

s () Agid SN Jsmdl o al=
Yg*d\ﬁlb«_jge—ﬂjsjﬁmu&uuh wal () -

st O b Ooriatall a3 Alla (B el gk b -
da:wubéu%iﬁJw\.&"MMJ‘G\e&&J\ﬂ@ew&-‘
saley il Jualaa £ i a3 13 ‘asd\;ﬂi'agdeYHJLN\ o) it sy
S g
Oﬁxﬁiﬂué!bﬂ&@wwﬁuﬂyaﬂmﬁmﬁd&-f
,?&nu}.\dg‘x\@m;\ﬂﬁua&\:\)?s.usam._'&ﬂw

€ kil dba peddd) sy o8 il ey oo S (9)-

da,3(7.5) Al s yadl ; (Al awadl)
o) ol ) pa( 8 sy JVie) (A il
¢ 4 pid) Abad (3 b Ual) eila cutiall Juaiily s Ja) Jlpead) -
@ QI3 O =

dpad il A Hal) qiluis) il analiall Suaiilly 7 ;AU Ngudd) -
$ A ginall

(il (3 gilly LSLaT &)




23 /6/2016 gl ik 93 Cladal 43 gial) daala
el 1 (el sl gl Balal) B ladll A

ey dall) Al (A0 48AN)

da,3(7.5) okl At Jusdid oY) pudl

- (o) 4y SV Jisad) (o al=
?%J\Jsset_j‘g.&j\l‘g‘jﬁmuhhulﬁ%i (i) -
¢ plagll haaa Sl (o tad G sl ey Of (BB S A )

2 5050 Lgub Aapd g heiione il s al L lat Shas iiny A -
8 yall By il i Sl ey gslall

miémm,x,uhs)s\hsu&wu&m&g)\.}smJ,aa.g&-r
S Agh) gl & pall Bk oo A

£ ol da paddl) GludsY hds Ay el ALY oo alSS (@)-

da3(7.5) Ay el cils pad) - (AU puddl)
o) ol gl (o 3l g Jligas) (1 ial=

SN 2als A Lbal) A8 cauliall Jualilly 7y 1 J¥) Jsud) -
¢ A4Syl dal Aaldl) Ao guda gall

COUall g aeadll (Sl SN alial) Juaiilly ¢ il (AGN Jlped) -
§ A4S il dkad paldd)

(il g (3 silly Ll g




Term : Second — Final Examination Time : Two (2) hours
Year : Second Year Students Date: 28/6/2016
Section : Arabic

Course : Management and Economics Terminology

Answer the following Two Questions:

Question (1) : Management Part

Question (1/1): Explain in short the following items:

a) The types of decisions.

b) Model of decision making process.

¢) Management skills.

d) Basic types of organizational resources.

Question (1/2): Translate the following terms into Arabic:

a) Human and non-human resources.
b) Controlling.

¢) Organizational Goals.

d) Operational Management.

e) Top Management.

Question (2) : Economic Part

Question (2/1): Define the following:

* Production Possibilities Curve ¢ Unemployment
* Law of Demand ¢ Economic Growth
¢ Opportunity Cost * Supply Curve

Question (2/2): Translate into Arabic:
* Micro-Economics
e Macro-Economics
* Consumer Goods
¢ International Trade

Monetary Policy

Inflation

The Economics Problems
The Free Market Economy

Best Wishes




Subject: Economic Terminology Second-term Exam May.2016

Second year Time: 2H
Faculty of commerce

Answer five of the following questions using graphs if possible:

Q1) Explain why demand for the factors of production is called derived demand,
differentiate between marginal revenue and marginal revenue product (MRP), and
describe how the MRP determines the demand for labor and the wage rate.

Q2) Define an unemployed person, interpret the main labor market indicators and the

types of unemployment.

Q3) Explain how consumer and producer surplus redistributed in a monopely, including
the occurrence of deadweight loss and rent seeking.

@4) Differentiate between economic rent and opportunity costs.

QS5) Explain how efficient markets ensure optimal resource utilization and the obstacles

to efficiency, including the concept of deadweight loss.
Q6) Explain price discrimination and what perfect price discrimination is efficient?

Q7) Discuss the impact of subsidies and quotas on the demand, supply, and market

equilibrium.

Good luck




Mens ufiya University
Faculty of Commerce
Dept. of Business Administration

Managerial Terminologies (2™ year)
Final Exam, (2" Semester, 2015/ 201 6)
Prof. Thabet A. Edrees

Explain each of the following terminologies in English:

[ - Corporate Stakeholders - Human Diversity
- Just-in-Time - Privatization
- Crisis Ll - Subsidies
| - Digital Market - Public Relations
- Market Development - Quality of Work Life
- E-commerce - Return on Investment
- Industrial Country - Intellectual Property
- Entrepreneur - Strategic Business Unit
- Marketing Strategy - Strike
- Lifestyle - Productivity
- Mission - Multiple Sourcing S|
- Global Industry - Opinion leader

s

“ahels




Menofiya University

Faculty of Commerce

The English Section

Course: Statistics

Final Exam

2" Year

Time: 2 Hours
Date: 19/6/2016

Answer the following questions:

First question: (5 marks)

1- Define each of the following:

a) Population.

¢) Descriptive statistics.

b) Level of measurement.
d) Inferential statistics.

2- Let the following frequency distribution:

Age (years) Frequency
20— 3
30— 14
40— 16
50 — 11
60 — -

70 up to 80 2

a) Determine the mean, median and mode.
b) About how many employees between 25 and 45 years.

Second question: (5 marks)
1- The following stem-and-leaf display reports the number of orders received per day by

the Northwest Regional Office of Oriental Trading Co., Inc.

Stem | Leaf
2 ! 2 3
3 2 2
4 2 2
5 2 2
6 3 3

A WWLWWLHS

4
4
4

a) How many days were studied?
b) What are the smallest value and the largest value?
¢) List the actual values in the second row.
d) What is the median value?

Age (years) Frequency
*10 - 3
20— 7
30 - 18
40 — Q0
50— '3
60 up to 70 2 J

2- Let the two frequency distributions:

R et LI A B RN Y SRR s NSRS

7 7 9 9
Income $ Frequency
20 - 1
30 - 15
= 22
50 -
i :
| 70 upto 80 1




-

Third question: (5 marks)

1- The following is the number of minutes to commute from home to work for a group of

automobile executives:

75 108 65 72 61 82 66
80 72 76 90 73 81 95
a) How many classes would you recommend?
b) What class interval would you suggest?
¢) What would you recommend as the lower limit of the first class?
d) Organize the data into a frequency distribution.
2- Refer to the following table:
First event
Second event
A1 AZ A3
B, 50 100 150
B, 100 200 150

a) What is the probability of selecting A or B,.
b) What is the probability of selecting B, or B,.

¢) Determine P(A,/B)).

In a recent study 80 percent of the home in the United States were found to have large

screen tvs. In a sample of nine homes, what is the probability that:

a) All nine have large screen tvs?

b) Less than five have large screen tvs?
¢) More than five have large screen tvs?
d) At least seven homes have large screen tvs?

Good Luck




Menoufia University

Faculty of Commerce Level (2)
Business Administration Dept. Final Exam June 2016
Course : Human Resources Management Time : 2 Hours

Answer the following questions :

Q1: Explain why do you “ Agree “ or “ Disagree “ with the following
statements :

(4Marks)
a ) There is no difference between training &development.
b ) Recruiting internally is better than recruiting externally.
¢ ) Pre-employment tests is the first step in selection process.
d ) There is no difference between job description & job specification .

Q.2: Explain the strategic planning of HRM function.
( 5 Marks )

Q.3: Write short notes on : (6 Marks )

a) The systems approach to training.
b) The relationship between training and selection .

Good Luck \



Menoufia University
Faculty of Commerce

Subject: Mathematics of Investment and Finance Second Term Exam 30151 2016
Second year Time: 2Hs

Answer the following questions:

1- A loan is to be repaid with 360 monthly payments beginning at L.E. 500 and increasing at 0.5 %

each month for first 200 months and with L.E. 50 each month thereafter. If the loan interest rate

is 16 % compounded monthly; find the amount of the loan?

2- A company wants to borrow L.E. 300000, there are two offers:
The first offer: the loan will be repaid at the end of five years at interest rate 12 % converted

each 3 months, and set up a sinking fund with annual payments at interest rate 10 %
compounded annually.

The Second offer: the loan will be repaid in equal five annual payments at interest rate 12 %
compounded annually.

Which offer would you choose for the company, and then construct:
a) - An amortization Schedule for the second offer.

b) - The sinking fund Schedule for the first offer.

3- A family finds that they can afford L.E. 700 at the end of each month for first five years and
L.E. 1000 at the end of each 6 months for next 7 years. If they can borrow at 8% compounded

quarterly, how much they borrow on a variable payment loan?

4- Prove that:

(1+1)"
ol s
I (1+i) sl #srl = m+tl)
a)- A :
4 : s P e
3 sl

Hlustrate both (a) and (b) using a time diagram.

Good luck




Menoufia University
Faculty of Commerce
Accounting Department
(The English Section)

May Exam 2016
2"Year
Course: Specialized Accounting

Number of pages: 3 pages

Exam date: 5/6 /2016

Exam time: 2 hours

Answer the following questions:
First Question: ( 5 marks)

The balance sheets on December 31, 2015, and the related current fair value for both

Esraa Company and Roaa Company were as follows:

Balance sheet (prior to combination)
December 31, 2015

I Assets
Cash

Inventories

Other assets

Plant assets

Total assets

Liabilities and Stockholders' Equity
Current liabilities

Long-term debt

Common stock, $10 par

Additional paid —in capital

Retained earnings

Total Liabilities and Stockholders' Equity

] Esraa Company Roaa Company 1
Carrying Current Carrying Current
amount fair value amount fair value |
250,000 250,000 300,000 300,000 !
350,000 500,000 500,000 800,000
400,000 450,000 600,000 700,000
1,800,000 | 2,000,000 | 2,400,000 | 2,800,000
2,800,000 | 3,200,000 | 3,800,000 | 4,600,000
300,000 300,000 600,000 600,000 '
500,000 500,000 400,000 400,000 !
500,000 1,240,000 ’
400,000 800,000
1,100,000 760,000 J
2,800,000 | EBO0,000 | gl

On December 31, 2015, in a statutory consolidation approved by shareholders of both

Esraa Co. and Roaa Co., a new corporation, Ahmad Corporation, issued 80,000 shares

of no-par, no-stated-value common stock with an agreed value of $75 a share (32,000

shares for shareholders of Esraa Co. and 48,000 shares for Roaa Co.). Ahmad

Corporation paid $200,000 direct out-of-pocket costs and 150,000 indirect out-of-

pocket costs of statutory consolidation.

Required: Prepare Ahmad Corporation’s journal entries on December 31, 2015, to

record the business combination.




(8]

Second Question: ( 5 marks)

The separate balance sheets of Sabha Corporation and Rabha Company following their
business combination, in which Sabha acquired all of Rabha's outstanding common

stock, were as follows:
SABHA CORPORATION AND RABHA COMPANY

Separate Balance Sheets (following business combination)

April 30, 2015

[ s e ~ I 'Sabha Co. | Rabha Co, |
s o e e e e
| Assets ' |
! Inventories | $240,000 j $120,000
| Receivable from Rabha Company ‘ 90,000 " |
‘ ‘ |
| Other current assets {470,000 | 440,000
|
| Investment in Rabha Co. common stock 1,000,000 ; !
| | |
| Plant assets (net) [ 880,000 | 640,000 |
| Goodwill 40,000 : S
| Total assets 2,720,000 | 1,200,000 !

| |

! Liabilities and Stockholders' Equity |

‘ Current liabilities 400,000 | 190,000 |
‘1 Payable to Sabha Co. 1 " 90,000 !
1‘ Bonds payable | 416,000 J 120,000 |
| Common Stock, $1 par I‘ 800,000 : ( 320,000 :
| Additional paid-in capital | 464,000 | 280,000 |
: Retained earnings | 640.000 ; _200.000 1
| Total liabilities and stockholders, equity 1} 2,720,000“}| 1,200,000 |
s e E ol SR S A

On April 30, 2015, the current fair values of Rabha's inventories and plant assets (net)
were $160,000 and $720,000 . respectively; the current fair values of its other assets
and its liabilities were equal to their carrying amounts.

Required : By using a working paper, prepare a consolidated balance sheet for Sabha

Corporation and its subsidiary on April 30, 2015.

’



Third Question: { 5 marks)

The following ledger account was in the accounting records of Ashmon Branch of

Almenofia Company on December 31, 2015:

Home Office

_iDate Explanation Debit | Credit Balance
2015

Jan. 1 | Balance 80,000 cr
Mar. 10 | Cash remitted to home office [ 20,000 60,000 cr
31 | Merchandise returned to home office 5,300 54,700 cr

June 6 | Merchandise received from home office 28,800 | 83,500 cr
Oct. 10 | Supplies received from home office 5,200 | 88,700 cr
Dec. 20 | Acquisition of equipment 18,500 70,200 cr

31 | Net income

15,540 | 85,740 cr

The home office of Almenofia Company used the perpetual inventory system, and
billed the branch for merchandise shipments at 25% above home office cost.
Required: Prepare journal entries to record the above indicated transactions and
events in the accounting records of the home office of Almenofia Company.

Best wishes.

Dr. H. Elsharawy

S




Subject: Money and Banking Second-term Exam May.2016

Second year Time: 2H

Faculty of commerce

Answer the following questions using graphs if possible:

The first question ( 9 marks):

State if each of the following is true or false, giving reasons & graphs if possible:

1) Money is not unique as the store of value.

2) The devaluation of Egyptian pound in comparison with dollar is for the
interest of the Egyptian economy.

3) The Friedman-Phelps Curve in the short run couldn’t be applied in the
Egyptian economy.

4) With a discounted bond, the return on the bond is equal to the rate of capital
gain.

5) The effective demand theory (Keynesian) proved that money is not neutral.

6) The demand for money is not affected by the interest rate according to the
classical theory.

7) There is no difference between money market and capital market.

8) Open market purchase pushed the federal funds rate to fall.

9) The decrease in the legal reserve ratio increases the supply of money.

The second question ( 6 Marks):

1

2

-There is a great difference between Islamic banks, investment banks and the

central bank. Comment ( 4 Marks)

-Explain why you would be more or less willing to buy a share of Microsoft stock

in the following situations:

a.
b.
c.

Your wealth falls.

You expect the stock to appreciate in value.

The bond market becomes more liquid.

You expect gold to appreciate in value.

Prices in the bond market become more volatile. ( 2 Marks)

Good luck
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